‘Dhand’ in the Thar Desert ?\{ A "arrow pelt of pebbles deposite.d by rivers
= Artesian Basin Paralle| to the slopes of the Shivaliks is known as-
(B) Playa i, desert ' (A) Bhangar (B) Kankar
(C) Oasis (C) Bhabar (D) Terai
(D) Depression in crescenf dune

. R i SRl g o T wE e
TR § gt 35 @ A ' ? i bl aﬁzﬁm

BN W o o & -
‘A) S 3 (A) 5y (B) @it
®) ot & oy (©) g (D) @
©) 7@fram

{ The Process in which a carbonate ore is heatefi
i Strongly i presence of limited air to convert it

\ DI ST @ ¢ & e

INto metal oxide is called -

A) Tl for (B) Ty o (A) Calcination ~ (B) Smelting

©) srafe (D) wim fipar - (. (©) Roasting (D) Reduction )

' e & urg oS ¥

A, Whatis reason of frequent occurrence:of drought %%W & dfE ;;1“2% y ;E‘EIT q T fear

and famine in Rajasthan? . . T Y, et Y

(A) Soil erosion '

(B) Irregular rain y (A) Prema (B) o

(C) Deforestation ' XC) (D) =TT

(D) Irrational use of water N
TTEH ¥ a-a o U6 q@ &1 7 S &2

Population of a city is 1 crore. If number of live
(A) 1 &1 T , | birth is 85 thousand, the Birth rate is - :
(B) afrafrg aut ' ; U & B e | s ¥ afy s o= Rigpalf
©) == & werd : . W e 85 TR ¥, W@ @ AT ¥ —
(D) v & iyt sy (A) 85 (B) 0.085
(C) 0.85 (D) 85
4 Lithium carbonate gives on heating —
(A) Li& CO, (B) Li,C & CO, \lg Charcoal is used to remove colouring from pure
(©) Li,O & Co, (D) LiO & Co, substance. It works by
fofrm #rate o # w - (A) adsorption (B) bleaching
(A) Li s CO, (B) Li, C &k CO, (C) oxidation (D) reduction
©) Lizoaﬁtcoz (D) LiO & Co, Wﬁﬂ@Wﬁﬁfﬂﬁm%ﬁﬁmmm
: %1 9 R whu % w0 B @ 32
& How Many minimum meetings of Gram Sabha are (A) afrsirer (B) firter
compulsory in a year? .
TH TN B CH I F o wprem dod o 27| 0 (C) s (D) oraermm
(A) 4 (B) s
) 2 ‘ (D) 3 \ A person buys pens at the rate of 11 pens in 10
e \ and sell them at the rate of 10 pens inX 11. What
6~ Who is author of Amarkavya Vanshavali? is his profit in percentage?
(A) Sadashiv Bhatt (B) Ranchhod Bhatt T A T 10% 11 @ ax @ RRECE o -
(C) Jeevadhar (D) Jagjivan Bhatt HINF 0\ H T ¥ | S iy wher
ST AN BT EH B ¥ 7 o qowr ke
(A) wafdg Wz (B) mrs wg (A) 1% (B) 21%
(C) shamex (D) wreiEa wg (©) 9% (D) 10% .

Hvs2 | ) 2
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\g There is a definite relationg;

problem figures. Based op Same ®en firg two
choose the correct answer ﬁgUre. rela‘iOnship

mﬁmmwasaﬁa@m%
m%mwwmmmm%|m
Problem Figures / wauy v Ty M

G|

() In (11D (1v)
Answer Figures / 39y SR

(A) @ (B) lo o
©|/\

On March, 2022 Yogi Aditya

in as the Chief Minis%er of ltjytt::1 g:a*:iaei}:) :‘(:: sse‘::;::;
straight term. He is the C.M. of the state
(A) 29th (B) 30t '
(©€) 31t (D) 33rd

ard, 2022 % gnf \mﬁma%mwm%
foe SO weT & gEwEh ¥ ey MY T g
® —  geEsh ¥

(D)

(A) 29 9 (B) 309

(C) 319 (D) 33 9

Guindy National Park is located at

(A) Chennai (B) Mumbai

(C) Bengaluru (D) Kolkata

TR g saa ¥ fea ®

(A) ¥= (B) =%

(C) e (D) ereeTar Y

Which of the following is different from others?

(A) Triangle (B) Square
(C) Cone (D) Circle
P & ¥ B\ oo @ e #7
(A) Prget ¢ g (B) =t
©) sz O(R) gd

HVS2 | €

\l\'; A 14 years old student is not ap|e to see clearly

the questions written on a black boarg placed at 2
distance of 5 m from him. The studeny i suffering
from which defect and to correcy vision of his
eyes, what type of lens should he yge9

(A) Hypermetropia, Concave [ens

(B) Hypermetropia. Convex lens

(C) Myopia, Concave lens

(D) Myopia, Convex lens

TH 14 34 &1 Rl 9 veq W Ry go g @
59 3 gl & @ T U6 U ¥ Ry frg 3y @
¥ Mea ¥ @@ @A F BT B @ g sga
BT B ?

(A) R 3fe Ay, sraa dF

(B) W 3Re 3w, 3uw oF

(C) Frae gfe 2w, saaa @

(D) e 3fe A, waa @9

The beneficiary group of Rajasthan Shubh Shakti
Yojana is -

(A) Women business persons

(B) Girls and women of labour family

(C) Startup owners

(D) Street vendors

TSI 99 fed Qe &1 dTHIhad W ¥ —
(A) wfeen =T

(B) gt afat & wsfeal 9 afeamd

(C) wréam d@ms

(D) Fewra fagsan

The Jain Granthas Harivansh Puran and
Kuvalyamala were composed during the reign of
Pratihar ruler .

(A) Mihir Bhoj (B) Mahindrapal 1

(C) Vatsaraj (D) Rambhadra

WHRER TEE ____ F e @ § I Ty

TG T FawEETr @ @ gl
(A) fifer W= (B) wAfezum wam
(€) T (D) R

Reliance Industries Limited will develop India's_
first Multi Model Logistic Park in -

(A) Tamil Nadu (B) Rajasthan

(C) Gujarat ~ (D) Karnataka

femiw gveedw fifids e a1 waw W wiew

wifes ah ¥ fyafaa Rean s
(A) dftreg (B) TrewRA™
©) T - (D) #tes

[ Contd...
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R

Cinnamoy, is obtained from \vI;ich part of the plant?
(A) Leaf (B) Flower

(C) Root (D) Bark
TGy, TRY F feg wrr & wre By 27
(A) o= (B) &

©) ws

Fatty liver i present in - g
(A) Scurvy (B) Pellagra an
(C) Marasmys ° (D) Kwashiokkdr
% Ty ™
(A) w5t ¥ (B) ¥amm & O\
©) g < ¥ (D) TRl

Fill in the blank with the correct opfioh.

The teacher taught us that the eatrtf
round. .

()
(A) ‘was (B) are
©) is (D) were )
N
Which one of the following trees is rj ]source of
gum in Rajasthan?
(A) Salar (B) Khair
(C) Teak (D) Dhokra ™)
ﬁ%qeﬁﬁéﬁwmqam‘*ﬁ%ﬁ&
T B 7 o
(A) T ®) a0
(C) srmEm (D) et o

In whicp of the following distrié:(}! Maharao
Shekhaji Armed Force Training Academy is under
construction?

™
(B) Ganganagar

(A) Sikar

(C) Bikaner (D) Churu (o)
ﬁwﬁﬁaaﬁ%ﬁwhﬁﬁvmsmmmw
WRIE el Prefomty 37 o

(A) Gt (B) A (g

(C) =t O = g

Chambal Project is a joint venture pfstates of -
(A) Rajasthan and Gujarat

X
(B) Rajasthan and Madhya Pradeshg
(C) Rajasthan and Haryana Ly
(D) Rajasthan and Punjab 50
e TR Bt Tl g o 8, 4 ¢
(B) TRAM S W Wy -

&t

) PN among people. ‘

(A) Folic acid (B) Magnesium

(C) Vitamin B, (D) Vitamin A

YT A B T i A @ B B
& & for fear )

(A) wifers s (B) #Fifyram

©) fqafm &,

How many districts are desert districts j,
Rajasthan?

T & fch ¥ @ ey ot wevereta #7
(A) 12 (B) 13
©) 10 (D) 11

Which state sent military help for the assistance

of the Maharao of Kota in the freedom struggle of
18572

(A) Udaipur (B) Karauli

(©) Jaipur (D) Jodhpur

1857 % wammy U™ ¥ HieT 9EE & geradl & fom
o8 T 3 & er woh 7

(A) 3R (B) e

©€) wagz (D) Siug

Golden rice was produced to reduce the deficiency

Go through the following poem and answer the

question given below:

. O Rose thou art sick,
The invisible worm.,
That flies in the night
in the hBVvling storm:
Has found oyt th?bed

~
of crimson joy:
And his dark segret love
Does thy life ,de\stroy.

What does the 'worm' symbolize here?
(A) Howling storm (B) Death and decay
(C) Secret love (D) Life and beauty

How much percent js 200 ml

of 1 litre?
| e &1 fpamn iy 200 frefy %7
(A) 20% (B) 200%
(©) 0.2% (D) 29%

Choose the correct option.
Tenders should be written in a |ap ua i
) sl 8uage that is
(B) brief and to the point

(C) roundabouyt g lengthy

(D) informal

[ Contd...



(f the volume of a right circulyy

oht is 12 m. The d;j Ne j
B) r Of the base ::_ '\K The members of Legislative Council are appointed

) 4 m. ‘ (D) 2 1 through -
£ FEgad 0% F Ay 1.6 (I) Direct elections
Al ¥| 3G% AUR & =g § T g3 0 (I1) Indirect elections
o | & B) ' 4 (”l)(, omination
0 4 . D) 24 (A); (1) and (111 (B) (I) and (111
, : (C) gD and () (D) (D), (I1y and (111)
[n order to get a diminished, y; L < i g e s §
image. the object can be placed A "’f“al and erect M 2 § ga o
o o MY Wwhere in fro (1) e ga @
_— t (N
(A) p!ane (1 :ﬂqm q
(g) ?i:::szftwncave or convex (A)((\‘) s (1D (B) (1) = (11D |
ED)) cames. (C)(«(rl)) 3T (1) (D) (1). (Il & (11) i
. ‘ “
gg‘;@aém) Rl Eﬁz‘d‘:ﬂ;@ g i;n S \3§ i 'tl)'rat;?rmation of input into output is performed : ,T
g m— Y W .q"T Y V _,‘
gl ¢l - W@ (ALGPU |
(A) §HAd : (B)(Fhe input-output unit 1
(B) U1 A SR AT I | (C)¢-Rgripherals ' . |
(C) s« D)eyps | |
(D) oradw Y 9 smeege ¥ uitad feud @ e ¥ 7
The bacteria E. Coli | (A)(.@re‘&
e bacteria E. Coli responsible for di . (B)(ggYe — sy
(A) Gram neutral (B) Non ?;ve::s:oea e ©) Wﬁﬂ'ﬂ 3%"%
.. »L
(C) Gram positive (D) Gram negative (D) &y TE.
m%fﬁm@é.aﬁmmw%: N
A I B) T - 2ot
g ED)) ::[ EREIRE 39\ In hoyy many districts of Rajasthan Tribal Area
PEIREY ‘ FHOTHD Devglgpg%:cheme. is being implemented?
Which of the following bird is linked with @& Y E? Forett a I <]
hosphorus cycle? A '
A) Pigeon (B) Humming bird (C)\“w (B) 12
(C) Guano (D) Kingfisher © D 8
Nefifag ¥ & @ @1 g B T B @ | Ley o
o8 27 ::,2 v;hlch Article of the Indian Constitution
) ) . : . vernor can reserve the bill passed by th
0 ;’}“a:ﬁ Eg)) Eﬁ“ﬁ ﬁjf( legg%:fe for President’s-approval‘.? Ta
}\ | ' EQ 'Angcle 313 (B) Article 200
In a row Roma is eighth from the left and Aman ) tisle 256 (D) Article 257
is seventh from the right. When they interchanged Gﬁ‘é\g? fpe orede & dgq AU fgUE Husd
their places among themselves. then Aman becomes B0 Wi e fadaes &1 gl & @il &g Gida
cleventh from the right. Then what will be Romas 27
position from the left? (A)L;@i@a 213 (B) 3= 200
(A) 12th (B) 13" (C)(%ﬁﬂﬁ 256 D) o I=%
(C) [oth (D) ]]lh z‘—d‘[ B o (D) 257
. " e . A mm " " > :
?J‘?g ‘; 7 |y 8 ﬁ aﬂﬁ;‘: qﬁaﬁ?‘ T o \-'& C h(fo\s’l the correct antonym of the following word ,
bt L;f; m H amjﬂﬁ - A @ gom the options given below : \
qrEdl ! ncourage |
W qRrif fﬁT § am? . (A) incite ' (B) persuade “‘;
ié; 12 5 (B) 1?:‘? ' (C) aid (D) discourage )
10 af (D) ‘
5 [ Contd... !
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42 When i s
\ known With Cel’lainly such system is calle
(A) Probabilistic ’ (B) Deterministic
;(;) Open (D) Close =

T qomrehr , 98 9 ey
) o T a1
B) Fraamem®
©) sirgw (

(D) ST
VLOOKup function used to :
(A) Check if two cells are identical
(B) Fing Non related records
Find related record h
(D) Looks up text that contain ‘V’
VLOOKUP tgrq Fd HaT
(A) aﬁwaﬁqmm%fmm}
(B) =& frey I T Rars o &
©) PR I fratd goar ¢
D) =& y= gomr & R v 2 ’

Which one of
(A) Khedapa -
(B) Singhthal - Harivanshji
(©) Ren - Dariyavji

(D) Shahpura - Ramcharanji
. LR C
(A) @sTar - TR
(B) fizaw - efaorsh
(©) Y1 - afmEsh
(D) smegxr - ImErorsh

Ramdas;ji

45

(A) JK Lone Hospital, Kota

'(B) JLN Medical College, Ajmer
(C) SN Medical College, Jodhpur
(D) SMS Medical College, Jaipur

TR & g dfsew sigw o
REIR A 8 T — B S ?
(A) A%, @ eiaded, @

(B) W.uw.uq. A B, ST
©) taw. Aeww s, SEgT

D) www. sy B, YR

Which of the following forts is awarded
destination in India Sily

(A) Kumbbhalgarh (B) Ranthambore -

(C) Jaigarh (D) Hawamaha)
Frafofed foel & 3 frg 4

R amreegs dam ammid 2022
(A) v (B) Ty
(C) waTe (D) wamEw

HVS2 ] O

Ystem input, process and output are

the following is wrongly matched?

W U% g T gafea &7

In which medical college of Rajasthan, Institute
of Paediatrics and Neonatology will be established?

er Outlook Traveller Award,

%ﬁzﬁsmsa‘s'f%m
AELL I

d:

gl

N

“Best

48

) P st v % 2 et 3 v e

(D) srEETET 8y

. n was :
The first Lokayukta of Rajastha

D. Kaurani
(A) K.S. Sidh (B) M.

©) 1D, D:,a ’ ([;) K.P.U. Menon
T % gom Aergad 8

(A) ¥y, (B) TA. a:::’f
©€) wa g (D) Y

“Zero Hour” in Indian parliamentary system
implies the - ‘ . |
(A) time allotted for infon:nal dlscusbsillclm between
two stages of discussion on a bill.
(B) Specific time allotted for a discussion on
budget. -

(C) Hime between question hour and next item on |

the agenda when the members raise any|
matter without permission of the chair.
(D) exact time when the question hour ends.

A B SR e § e B e o d

T4 & forg omfea @

(B) vz wt =t ¥ firq emefea Rfire @
(©) 9371 T oir B B et 77 F o9 @5
9 19 e oeAE @ oAt ¥ 99K B

v wom
(D)agéﬁmmauawmmﬁm%l

Which blood type is a universal donor?
B W @ B A T S ¥?
(A) AB™ (B) AB*

© o (D) o*

Famous painter Sahibdee

n belongs to which school
of painting? :

(A) Dhundhar (B) Alwar

(C) Mewar (D) Marwar

wirg faTer afeedy e & few gy q
TEhE &7 |

(A) @R (B) sy

(C) ¥ars (D) wrars

‘Chhappan Plain’ js ¢
(A) Chittorgarh ang Pratapgarh R
(B) Pratapgarh anq Banswara
(C) Banswara apq Kushalgarp

ituated in between -

(D) Banswara apg Dun

. garpur
(A) TG ol g 3 &g
(B) T8 &R srerare; 3 -
() AT M e 3 g

Y ¥ g

[ Contd.
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y The average of 8 consecutiye inte

Berg ;. 23
is the average of first three e is 3 What

g FATA Uil & e 2\23 Y Yerg

37 I iy
g 1 & ¢ &
(A) 9 B) 19
© 7 (D) 8

Which place is famous for bl
(A) Sawai Madhopur (B) C?\?t‘: Potteryo

(C) Jaipur (D) B Orgarh
mﬁ@%w%mmg“gv;f;%

1 (A) TEE WrEgR (B) R ¥?
(C) AR (D) Siarey

Which Rawat (Noble) had given sh e
9\Charan during the 1857 Revolt? el;er to Bhimji

(A) Ranjeet Singh (B) None ¢

© l;;eis%?gg Sai;ngh (D) Jodh Siiél;]ese

1857 o e e g

F T &y Ay ? %“Wﬂ (awr=)
(A) I“Iélai.ﬁg (B) Fﬁ%aﬁg:@,

(C) waifte (D) ufie

N5 The rate at which information is
communication channel -

(C) Slide show view (D) Slide view
R & ¥ @ @ grauiee o o ¥?
(A) Yoo =g (B) ST &
\&(C)Wﬂ%@aﬁq (D) wmEE I
Rl Y ud) fadm o= T8 B 7
(A)?&_;l " (B) fafrr -y
©) swm-gfm = (D) ﬁt(.a—amﬂ

| W21 O

-

-

EQ‘ An aggrieved person can file a writ petition for
the violation of fundamenta] rights in :

(A) Supreme Court only

(B) High Court or Supreme Court |

(C) High Court only :

(D) District Court only

M sy ¥ &4 89 1 W i frz afaet
9T BT Hhal T :

(A) %I Ieqaq gl §

(B) =0 =rara a1 ITAGH Rty §

(C) *am =g =y ¥

(D) waw faen < ¥ \

}\ Which function is used to calculate remainder in
-3 MS Excel?

G (Remainder) T &7 % frg U9 UF UFed o
BT W Ay T H A B P

(A) INT() (B) FACT()

(C) DIV() (D) MOD()

}:‘\ By which other name is Tartai Mata known, whose
temple is located in Talwara (Banswara)?
(A) Tripura Sundari (B) Aawri Mata

transferred in a (€) Gajlakshmi (D) Mahakali

- TR T R At qeEren (i) ¥ fug 3

(A) Nano rate (B) Pixel rate 3% e o ™ A N s wmr 37
(C) Baud rate (D) Bit rate ' (A) Bga g=l (By amardl Awan
mﬂaﬁwqrwq(éﬁa)wﬁﬁ%aﬁﬂﬁz (C) wwmeh (D) wemnien
FEAll & — : ‘
(A) 1 = (B) fyrw = \{2 Choose the most appropriate technical translation
C) sis = (D) fae = of the following word :
: Circular .
: 36) The ornament bajuband is worn on (A) ufeer (B) few
(A) ‘Ankle (B) Waist (C) uftww "~ (D) g
(C) Chest (D) Arm
T YT F gEe S b‘ Choose the correct alternative which can be .
(A) z& (B) ®9¢ substituted for the given sentence :
© st . (D) yem The period of life in which a person is old and
. weak
\( Which of the following is not one of Power Point (A) Senility (B) Superannuation
. View? o (C) Dotage (D) Impecility
(A) Presentation view (B) Outline view

}}\The excavation work of Ahar was accomplished
under whose leadership?

(A) H.D. Sankalia (B) B.B. Lal

(C) V.N. Misra (D) V.S. Wakankar

&S &1 @A B fhed g § wEIRd gom v ?
(A) wad. wiwkm (B) <& @

(C) Hrwm. fyam (D) dN.Uq. AT
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N

N

v (A) 172 of th

‘SUBORDINATE- & R g o -
(A) foig (B) wETw

©) afrg 3rofy (D) o

Any Kind

A ({fﬂ;ner generally ends with :
(C) Subscn{ey‘on (B) Heading
©) Saluta@q (D) Signature

Ch -8,

0ose theﬁ;qrrect preposition.
He took ages ; the job.
eneath, (B) of
(C) over (D) above

(A) Platel%
(B) Lymp@,c? tes
© White!\_lé ood Cells
(D) Red Blood Cells
Rh gﬁw T Wi o
L'k
(B) fermrgey
(©) &3 sfrtymn
(D) wm< sf&¢)so .
N

%! gae

In which dfstdct of Rajasthan factory of Havells
India is located?

(A) Kota ) (B) Jaipur

(C) Alwar'\® (D) Ajmer

AR % fir R, o Yavw s B S Rag ¥?
A) B | (®) YR

(©) GR"ET(-{\ i (D) emR

How man§\}1116mbers are nominated by the
Governor in _the Legislative Council of a State?
total membership

(B) 1/4 0:3\% total membership
(C) 1/6 o r]’e total membership
(D) 130 f@% total membership

mm@ﬁmm'ﬁmﬁmqﬁa

(B) Wﬁgﬁﬂmwm
(C) wxwii @ g wEn @ 1/6
(D) wewif &t Ho weAn & 1/3

Hvs2 1 ()

Rh factor '§ @ antigen situated on the surface of

%S

75

The first Chief of Defence Staff (CDIS) of fl‘ndiz
General Bjpin Rawat was posthumous y’con erre

with which award? p

(A) Ashoka Chakra (B) P ajm a [\Bl:;llzzl;an
(C) Paramyir Chakra (D) Padma R
W%umzﬁmeﬁfﬁmm(CDﬁs) ﬁ‘w
T B v fopd @ & ot
(A) @i = (B) 55 199

©) Tt wm (D) W LI

Which is the rank of Rajasthan in India in terms
of population in 2011?
(A) 12t Rank

(B) 8 Rank %
:
(C) 24t Rank

(D) 27" Rank

291 9 g e ) e & T B 2011 X g
qEE? i .
(A) 124 &n (B) 8ar &7 sé‘
(C) 24 &F #w (D) 274t &H )

Prerifer & & fed gard Toes (TRR) ¥yl
ot wmar & 7 '

(A) srfirgaen
(C) fafer

(B) SIETH
(D) uftgs

What is function of Rural Non-Farm Development
Agency (RUDA)? '

(A) To develop educational institutions

(B) To provide electricity in villages

(C) To develop agriculture

(D) To develop Non-farm sector |
AT - Ryepre wirao (W31) &1 1 ‘Brf ?
(A) fren wenel &1 Rygrg
(B) et ¥ faorel—sqerey BT
(C) P & Ry '

(D) -3l &5 & fygrg

A circle circumscribes g rectangle with sides
16 cm and 12 cm. Whag; g the area of the circle?

(A) 1527 cm? (B) 1927 c¢m2

(C) 96n cm? (D) 1007 cm2 '
16 a9 IZMWWWMW?&W'

o . @

T4 @ieT ™ ¥ gy gy IET %7 '
(A) 1527 ¥up2 (B) 192 2

(C) 96n diy2 (D) 100 g2
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usage of Microsoft clip gallery .
\) 1o add clip art pictures i ) £
B) to remove slide 82 For what value of 7, (x+4) is a factor ©

d art 3
(C) to add wor (x" +a")9
| check
(D) 1o §pel . A) Only for even values of n
forea A8 @B W gB) Onlz fg: odd values of n
(A) frra omé R e & T (C) For all values of
(B) ESIES) CaRTAR T ﬁ?fq N (D) 0,2’]%: for prime values of n
¢ I WA ¥ g ) . , 5
E{C))) & 3% B % § nés;miﬂ'-l%ﬁm(x+a), (x"+a )mqmgurar@“g

(A) 7% Faw ga 7 B R

.ﬂ which of the following enzym (B) 7% Fae fraw A= % fog

sl e .

.molecular scissors’ in blotechnmog;?ar? called (©) nB e ar % R

(A) gyd“?'a_se, (D) #Flaw s W & fg -

(B) Restriction enzyme N :

(C) DNA ligase }i Choose the correct option for the Passive
(D) Polymerase constrpetjon.

Prfaiad & ¥ B | USEE 99 TR ¥ ‘g EverypE:e:l calls him a peacemaker.
¥ PEaTal & ? . \ (A) Hg'is called a peacemaker.

(A) TESE (B) Evetyone is called a pe]ac(;emaker by him.
joF QoTgH }ﬁg—,f (C) Afpeacemaker he is called.
Eg; gg{‘l’égzqm (% erem) (D) He'js called to be everyone's peacemaker.
(D) e : ng 2024 lS;;‘] mer Olympic Games will be hosted by-
(A) Moscow  (B) Qatar
The cube of 101 is - A (C) Tokyo (D) Paris
101 &1 o & — 2024 % Hlorareli= i Sl B AoTaE B BT ?
. (A) 1040401 » (B) 1050501 (A) =Tt (B) &
(C) 1020201 D) 1030301 © Zﬁi" (D)
3
‘79 In which state of India 68t Nehru Trophy Boat \Qi Partisan-glections for Panchayati Raj bodies was
Race was organised? recommepnded by - .
(A) Karnataka (B) Andhra Pradesh (‘g) SX ) AI}?%Com{mttec
(C) Tamil Nadu (D) Kerala (B) Iq Al Committee

. s C) K. Santhanam Committee
T % fre o ¥ 684 e g de () @ ED) Ashbk Mehta Committee

ST At g e e G Geenel % RQ ooy frate @ sgeiEn
(A) ®afes © (B) Y WA B T -
(©) afrrTg (D) % (A) )3, T R

' (B) iy oreht wifer

ﬁ% Where is the fort of Achalgarh situated? \C) % it i
(A) Mount Abu (B) Alwar (D) i Fean wfufr
(C) Ajmer ~ (D) Jalore ' L "f
awTE g wel Rad &7 Choose the correct indirect form of the given
(A) =Rz 3y (B) omEv - - sentence)from the options given below :

(C) ammy . (D) W@R She said) "We were thinking of selling the house

; but w ve decided not to".

X\ If the altitudes from two vertices of a triani.z.le' to (A) § .(siaiq(;hgt they thought of selling the house
the ite si I, then the triangle 15~ ut ‘decided not to. '
(A)Oli)s%(;iglee:ldes o e(ql;;l scalene (B) S’ljejsaid that they think of selling the house
(C) right-angled (D) equilateralgﬁ?{m}[ﬁ;a © gzjl]::iddi;ldte?hn;t Itmcz)l.ve been thinking of

: . : at the
e v oy & 3 ofiwi @ T7gE LEICIRN selling the house but had decide not to. *
H 8, %THT" 3 (D) She said that they had been thinking of selling
Eé) wfgarg (B) faweE the house but had decided not to.
) WY (D) &99Tg : ]

: HVsz] O <1 | 9 b & ' [ Contd...



o

2(aq) * Na,S0 4(aq) ~ B2SO4 é}+ 2NaCli,q) is

ecOmposition reaction
E(B:§ Cgm ination reaction : b
o lsplacement reaction ' J
) Double displacement reaction
aCl,, '
Yaq) * NaySO, ) — BasO, @* e
T Saew & |

(B) W oy
(©) ﬁwﬂ’iﬁtﬁwﬁmﬂ;r 5
(D) fe-frares sftear @

"88_ ‘Kailash Sankh i

. ala’ was associated with, -
(A) Tiger conservation

(B) Black deer conservation - ' '
(C) Snake conservation

(D) Bishnoj caste

BN g gy & -

(A) "9 gaw @

(B) &t feor wwewr &

(C) &/ EEwrq§

(D) s wfy @

\Bgﬁfaamﬁm—ﬁa'zhmﬁ%? A
~ (B) sERm - : ~

(A) Iifrs
(C) w=ufx (D) =smaifer
‘90§ Ctrl +Y is used to :

(A) Redo or repeat last action

. (B) Undo last action
- (C) Align a paragraph
. (D) Close a document
Ctrl +Y &1 warr foran wman & -
(A) sifim o & fedie @ O &7 % R
®) siftew fear qdaq @0 ¥ g
Q) T we B ¥ fig
®) T W A W= F fig

In aquatic ecosystem, the limiting factor for
productivity is

(A) air (.B) soil
(C) light (D) water
s ol aRAS ¥, IAEH @ d B
(]
(B) yx
(A) a9 (D) W

%

LA
Y
~

(C) W

nvs2] O 10

94

. W, u = vl % & fow B gl

%'smﬁmmmé;
(A). rardr ";‘ (B) -
©) wiurg . \p) W

What shoulg co,,{e aext letter in the followiny
letter serjes? :

ST Aoy A ST ST I W ST TRy
K’L,J,M,LN,&QQP’ R
(A) E B) F . *
© Q- ®) R |

!

Tl'le lens formula in, Cartesian coordinate systen

is — o |

Where, u = object distance from optical center
v = image distance from optical center
S = focus distance from optical center

writa frdsti o F o @ gT & -

v =i Fx ¥ yiafes @ g
- f= vl ¥w ¥ weE gt

(A) TV 4 (B) f=v+u ‘:
1.1 1.1 1

© 7=;+; (D) 7:;—; ‘
i

|

Find the missing number. . ﬁ
4 HE T i) %, |

9 14 25 1::,«

@;r? :

=] 5 i B N

-4 » N6 Sa 15
(A) 22 < (B) 24 % .
< 19 D) 20 - Q

Who is widely regarded as the father of the India's
space programme? .

(A) Dr. A.PJ. Abdul Kalam
(B) Dr. Panchanan Maheshwari
(C) Dr. Homi Jahangir Bhabha
(D) Dr. Vikram Sarabhaj
m%mﬁamﬁﬁwﬁ&wm%?
(A) & Tqa, NGA By

(B) 1. W wrRyad

(C) 1. ¥ Wi sy

(D) St. Toww arrrd
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ere did Chief Minister As

9Q&Wh

foundation stone of Dr. B,

I 20 edkar

(A) Bagr B) Kigpar W
(C) Alwar (D) Jodhpugarh

16 7@, 2022 B T T A r

& e et fafy ﬁ%w 3

& Wi? L)

(A) 16 H

(©) T H D) 0

(D) Sy §

From the top of a cliff 150 , p:

» depression of two boats are 60°h1gh, the
the distance between the boats
the opposite sides of the cliff?

(A) 20043 m (B) 200 m

© ;ofihm N (D) 1003y

150 . St TEH & o} & ey

60° T 30° ¥1 T 35 7 TR 7 & oy g
¥ fda Rem A &2 t I

ang|
. and 3o, Wgh:t ?:

(&) 20043 . (B) 200 #.
(C) 5043 . (D) 10043 .
W e = % W O wE i b -

(A) &R ¥ I B9 qre :

(B) G & 4rg

C IR

(D) w&T® FHM arel
l}kﬁmsﬁif‘qﬁaﬁﬁ'w%?

(A) ferea (B) fman

C) T (D) &t

W%wm@ﬁm’.adﬁmmam‘
(A)w—éwﬁrm |
(B) BUX WX FH T &

(C) @18 B I B

(D) ¥mT W Y FA @

10X The median marks from the following cumulative

frequency curve is - - N
s - :
40

--------------

-------------

(2]
o
&

5 | 20 - esz>

" No. of Students

fenfiat @ s

iy
e o

“30 20 30 40 50 60
Marks / JT<iid —>
(B) 60
(D) 35

. 0 Geh]
University on 16 NovembeImrao Amp Ol lay the \{)3

't

11-

is a process of translating a task into 2
series of commands that a computer will use t©
perform that task.

(A) Coding

(B) Maintenance

(C) System Design.

(D) System Analysis

s Hd B AR B s e &
@ U whea ¥, AR YL 39 7 & w3y F C
I B

(A) &fEn ’

(B) #fHe (Tat@m)

(C) faem feamA

(D) R fassrur (gife)

4 Which colour of light deviates maximum in the
dispersion of white light by prism? g
(A) Green (B) Red
(C) Violet (D) Blue .
Rrow ZIT THE Ty & AT § Yt & B @
aftreraw frafera gar 27 - :

(B) v«

(A) &
(D) ¥em

(C) s

5 Which is not a funciton of the Bureau of Public
- Enterprises of Rajasthan?
(A) To coordinate working of various state
enterprises.
To serve as a clearing house for the collection
of information for all state public sector
undertakings.
(C) To issue guidelines to private enterprises in
Rajasthan.
(D) To monitor the functioning of all state public
sector undertakings.
TSI & WS IUHH A B B a1 B T8l & 7
W) ™ ¥ faf= Sy @ sedvumel § 'wEd
BT :
B) T & v wrdwte &% % SumEl & foe gEe
THA HT T THMET T8 T Far BT
\(C) Twrea™ ¥ Pt swwl &t fagn-fadar &
(D) @t wrwiE & % IUHA b Hral @ FECEN
ST

(B)

Who among the following participants stood first
runner up in Femina Miss India 2022 Competition?
(A) Seeni Shetty (B) Rubal Shekhawat
(C) Kanika Singh (D) Yamika Sain

B frg gfegr 2022 wREifan A Prafafea § &

B & R we TR oW @Y
(A) R 9y (B) ®=a Sr@rad
(C) =fmm e (D) aftra &
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\10% Which of the
Rajasthap9

following is latitudinal extension of

(A) 230 3¢
(B) 230 3¢
(C) 230 g3
(D) 23° g3

North and 30° 21' North
South and 30° 12' South
Eorth and 30° 12' North
- orth and 30° 12' South
%Fﬁﬁaﬁ"mmmamamshu&mﬂ%?.
) 23° 30" S g 300 21' TR
(B) 23° 30" ofiw g 300 12" <R
(©) 23° 03 5y g 30° 12" T
(D) 23° 03' 35 wg 30° 12" e

\08 Neha walked § km towards west from her school.

’

.lf?
?gi
S

"N09 The value of 772641 is -

The{1 She turned to the right and walked 4 km.

A.galn she turned right and walked 5 km. In which
« direction she is going?

(A) East (B) West
(C) North (D) South
O S Ry & ofyaw @ ot 5 Red e ¥l
F€ TN S gt 4 Rt el ¥1g: 7w o
5B 5 el awr 31 7 Forw faom F o <@ 37
(C) s (D) =frr

772641 W AR ¥ -
(A) 891
- C) 879

0 'Indira Gandhi Urban Employment Guarantee
Scheme' of Rajasthan was launched on -
(A) 8™ November, 2022
(B) 18 November, 2022
(C) 15" August, 2022
(D) 9™ September, 2022
o™ & 3R med el e TR Qe &
ATeN &9 fopar T ?
(A) 8 EwT, 2022 H
(B) 18 Tamw, 2022 &
(C) 15 &, 2022 &
(D) 9 faamw, 2022 &t

(B) 889
(D) 871

M2 Which of the following is INdids

N

first privately |

developed Rocket?

(A) -Vikram-S
*P) PSLV.G
) PSLV-XL
otP) Vikrant-S

Y ¥ P @ aa B
: TWhe ¥?

) fomw -
CB) dogomd - &

(C) drumumd - wwETa
D) fewpia - ww
O

"N Which is the famous dance

L(Qharana?
(YA) Kathak (B) Kathakali
ONC)  Odisi (D) Bharatnatyam

O\ o a1 i 3 & &1 87
(*%)zﬁw (B) Huwe
kéD) afed

g freft & 21T

form of the Jaipur

(D) w{a-reaH

e options given below :
pen will do.
) Much
(C) Many

‘\1&43“1 inthe blank with appropriate determiner from

(B) Enough
(D) Any

R Who was declared the Indian Film Personality of
Otpe year at IFFI (International Film Festival of

dia) 2022 held at Goa? ‘
) Prasoon Joshi ~ (B) Manoj Bajpai
) Hema Malini (D) Chiranjeevi

¥ oA S Th.. o, (Wl st
THIE) 2022 % &8 o %1 TRl Reew e

fopan man? :
\(HA) TG sl (B) #irt s
OtC) & e (D) furistey

L0

1§YWorld's largest museum of Harappan culture is
eing setup in - '

C\(A) Banwali (B) Rakhigarhj

©) Lothal (D) Kalibanga
T T MU favq a1 gy

111 If log,s x?-é-, then x is equal to -
afe Iog27x=%, de x SUETE -
(A) 9 (B) 27
©) B (D) 3

avs2 1

ok IS HUBTHY g9
(A) Em § (B) Trdrrdy ¥
(C) @ua § ) HrRET

- [ Contd...




v

e i\:ll}gzll:)rzg the following igneous rockg are found
(i) Gabbro
(ii) Granite
(iii) Rhyolite
(iv) Basalt :
(A) (iii) and (iv) (B) (i) and (iv)
(C) (i) and (ii) (D) (ii) and (iii)
Preifeee & & B & T T S k)
(i)
(i) ¥
(ili) TAETEeE
(iv) 98
(A) (iii) T (iv)¥
©) @)=y

7

g7

) )7 (iv)
(D) (ii) 9 (iii)

223596

11%& Which one of the following Samskaras is ge,h}ted

to birth?

(A) Samela (B) Jadula

(C) Bindoli (D) Mosar

fire ¥ ¥ -1 g@R o @ gafig §7
(A) T (B) wrgem

(C) el (D) W&t

118 The birth place of Gogaji is

35963 223596

(A) Dadrewa (B) Mallani
(C) Kolu (D) Kolayat
TSl H T W 2 |

(A) @ (B) HTewT
(©) @ (D) @ad

18 Under MNREGA, minimum _;_%ays

mployment is provided.

What number must be added to each term of the
ratio 4 : 5 so that it may become equal to 5:0:!

m4:5%mﬁﬁaﬁaﬁmaﬁamaﬁ
7 U 5 : 6 % T F W ?
w3 4 @
©) 1 :e@._.-e)f\ (D) 2
ly

}{3

[ . : .
A pair of genes with contrasting characters 1S

g

termed as : _
(A) Heterozygote (B) Allele
(C) Homozygote (D) Genotype

fradd wevi g o B S B Bed §

(A) Rroagmst (B) tfwm |
(C) g™ (D) S wred

The monthly incomes of A and B are in the ratio
4 : 3. Each of them saves X 600. If the ratio of .
their expenditures is 3 : 2, then the monthly income
of B is - ' _

‘ A qen B @ e oma § 413 B e ¥ A &
& ss T 600 garar ¥ 1 afk 3% & Rl T o 6
S 3:2 @, @ B @) Wi o Erh -

g

(A) T 1,800 ) T 3,600
e (C) % 2,400 (D) ¥ 2,000
196, o g & g8 wfr-faede ¥ -
(A) &g+ T (B) o+
(C) & +qua (D) & + quu

In which city, ‘Invest Rajasthan Summit’ was
organised from 7-8 October 2022?

127

AN & STt GAaH & &1 T _

wer fpar s B ™ (A) Jaipur (B) Kota

(A) 130 (B) 150 O (C) Jodhpur (D) Bikaner

(C) 100 (D) 120 N . 7-8 aragat 2022 & fpg e A ‘TR Ter g’

m 1 Smae fean ey '
124 The third highest peak of the Himalayas im (A) TR (B) =1
A) N Parbat (B) Nanda Devi

EC)) Makalu (D) Dhaulagiri &N (C) gt (D) dar

fomera 1 dret wairm e @a - N '

(A) Fm qdd (By a1 LGl 128 The area of an equilateral triangle is 25J§ cm?,

(C) wbre (D) g g then its perimeter is -
123\ Where- is factory of Parle Biscuits loca@ in (A) 5043 cm (B) 60 cm

Rajasthan? LD (€) 30 cm (D) 50 cm

(A) Nef:mrana (B) Jaipur ™ T g B & Fa— 25J§ AN, 79 T

'(C) Bhilwara (D) Bh.aratpur qfeT & -

o ¥ o it A wE Rad ¥7

(A) e (B) SR (A) 5043 ¥h (B) 60 &

(C) sieraret (D) WA (C) 30 (D) 50 ¥

Hvs2 ]

13

[ Contd...



\l&9

¥

/ \’3 /b ‘
N os
N -4 bles itself at compoun
?;hseit':lrtge;t inhabited riverine island in the world | 1 A um of money 400D ow many years will |
ated in the ) years.
(A) Godawarj <" (B) Brahmaputra  become eight times? ¥ g & R}
(©) Gan F15ad
ga (D) Indus Th 499 Tfyr =TS )
%&ammmwmm @ Roet ot & g o 7 @ T
ARamd (A) 60 B) 75
(A) M=y ®) g © 30 (D) 45
L (D) fig £
Who was the chairman of State Reorganization 135 ‘Jovars’ wdm ¥ -
-Commission? . (A) 3w (B) @1
(A) Fazal Ajj (B) V. Patel (C) fraa (D) &
(©) H. Kunzry (D) K. Panikkar
s Sﬂlhﬁ A T ? : ' . |
(A) &t orehy i Tjﬁﬁ 5 4 HSE Under whose chairmanship was the Mewa
(B) . Prajamandal founded in 1938?
©) v g=m (D) &. et

\%‘Mahi Kanchan’ and ‘Mahi Dhaval’ are the

132

varieties of which crop? |

(A) Maize (B) Gram

(C) Bajra (D) Jowar

TR B AT Wl qaw e waw o et €7
A) HwH (B) =

(€) s (D) =91¥. .

If cos®=2, then tan@=?

afx cose=%,a’t tan@ =2

(B).

a
A) [2_2
5=
© ng‘“

b
w/b?—az 4
(D) V6% —a?. |

b

Which of the following factors is not responsible
for governing the climate of Rajasthan?
(A) Prevailing winds

(B) Rainfall being fairly uniform

(C) Temperature

(D) Distance from Sea

Frifes & @ @9 @1 are ToREE &
e &0 % frg wocadr 78 27

(A) weafad qa

(B) aul &1 g5 fyqor

(C) damE™

(D) &9z & g

uvs2 1

H

1

v

14

(B) Balwant Singh Mehta

(C) Nayanu Ram Sharma

(D) Kapurchand Patni |
UITS WeIvSE B e Rpae otemsrm § 1938
e

(A) ST SIS |
(B) wwda Rie dea | j
(©) =™ smt |
(D) HqTEE gresh 1

3

. |

(A) Jamnalal Bajaj 3
i

‘!

31\The time it takes a device to locate data anc

instructions and make them available to CPU i
known as : |

(A) Access time (B) Processing cycle
(C) Data speed (D) Clock speed ‘
z_m%a\’hm:*ﬁ@r.tﬁq. BN IYAR B

¥ T WG HeA .
(A) TRw Ty (B) R wm (cycle)
(D) wis e

©) ¥ s

[

I} TF HZ W ¥ CREW

* 96
COURT & 154 firar sy & o T &

.a‘rvehwmﬁ‘CRATE

@ 5 wHR fran s 2
(A) 94 (B) 93 J
© 47 (D) 90 |



139

14

The difference between Sugar mole \\?
T RNA is - Cules of DNA

(A) absence of mtrogen at 3-C

(B) presence of nitrogen at 2-C

(C) absence of oxygen at 2-C

(D) presence of oxygen at 3-C

AL A Y. F wha

(A) 3-C T EISH & 3Ty LA g g
(B) 2-C W Tigzie &t Juftafy

(©) 2-C X HAiwH &1 g

(D) 3-C W o™ o SuRafy

The chairman or the member of Rajasthan Public
Service Commission can be removed earlier before
‘the completion of their. tenure by -

(A) State Legislature (B) Chief Minister
(C) Governor (D) President
TRAT Ih JaT AT 5 AAH AT TG FY FRIBA
B TG ¥ fhed T TR o Hehar ¥ 7
(A) fum e g (B) gem W @@
(©) TuTwm g (D) Uufy @

141\_ Falku Bai of Kishangarh is associated w1th Wthh

142

LY

nvs2]

|

dance form ?

(A) Kalbeliya (B) Chari

(C) Chakri Dance (D) Terahtali
Reere A werg oS T T ¥ dafm ¥ ?

(A) wreafar . (B) Tl
(C) =%l JI (D) AcEart
Structure of Xe F5+ ion is —

(A) octahedral

(B) pentagonal

(C) trigonal bipyramidal
(D) square pyramidal

XeFs' oma @ @& ¥ -
(A) I=ETDT

(B) duereim

(C) Bt fafrtfid
(D) =t ftfrda -

Translate the following sentence into Hindi :
Women learn English faster than men.

(A) aﬁ@aﬁmkwmmmmu
(B) goui @t wivwmell § yew sl drad @meq|
(C) gow ofital & wiedr sl drEd )

(D) oid gowi ¥ U Wit ih dree ¥

150

15

Diamond is a -

(A) Isotope of carbor
(B) Isochore of carbon
(C) Allotrope of carbon
(D) Isomer of carbon
WS ¥ -

(A) @ &1 g ih
(B) FEA & gHSEATH
(C) @A &1 FUTEd

(D) FEA HI GHIEEE

With which folk art is Jankilal associated?
(A) Tamasha (B) Baharupiya
(C) Nautanki (D) Phad )
AT fee dre—wer § aEbug §?

(A) aHem (B) wesltan

(C) =t (D) w3

Example of logical operators is :

HAiThe STy &1 SaEll &

A) if (B) XOR
© > (D) +
B IR S ¥

(A) o \(B) aﬁaﬂf
(C) vsrad (D) B

The range from the following, belongmg to the
lesser Himalayas, is -

(A) Mahabharat (B) Given all.

(C) Pir Panjal (D) Dhauladhar
frafafea o & frea-femea @ woftg Jamr ¥ -
(A) ws™TE@ (B) @ ™ ah '
(€©) dr uw= (D) dwmuR

Geo-stationary satellite revolves at

(A) Any height above the poles .
(B) Height which depends upon its mass
(C) Any height

(D) Fixed height

e swe gwar ¥ -

(A) gai & S fodt $ard w3

(B) &uré st g W Pl &

(C) fadt ot Fur§ wx

(D) Rt $ud w
Rheumatoid arthritis is a/an disease.
(A) bacterial (B) fungal
(C) autoimmune (D) hypersensitive
YRR ey us W )
(A) Srarfes (B) waa
(C) w@ulwiyg (D) afaEady
" [ Contd...



